

الف) $\lim_{x \rightarrow \infty} \frac{x+5}{x+1} = \frac{1}{1} = 1$ ✓

ب) $\lim_{x \rightarrow -\infty} \frac{x+5}{x+1} = \frac{1}{1} = 1$ ✓

ج) $\lim_{x \rightarrow 2} \frac{x+5}{x} = \frac{7}{2}$ ✓

د) $\lim_{x \rightarrow 0} \frac{x+5}{x^2} = \frac{5}{0^+} \rightarrow +\infty$

تقریب شده: $\lim_{x \rightarrow 0} \frac{x+5}{x^2} = \lim_{x \rightarrow 0} \frac{x(0)+5}{x^2} = \frac{5}{0^+}$

خرج صفر رقیق می شود ←

الف) $\lim_{x \rightarrow 2^-} f(x) - 2$ $f(2) - 2 = 6$ ✓

ب) $\lim_{x \rightarrow 2^-} [f(x) - 2] = [1.0] = 1.0$ ✓

ج) $\lim_{x \rightarrow 2^+} f(x) - 2 = [1.0] = 1.0$ ✓

د) $\lim_{x \rightarrow 2^+} [f(x) - 2] = [1.0] = 1.0$ ✓

الف) $\lim_{x \rightarrow 1} \frac{x+1}{x} = \frac{2}{1} = 2$ ✓

ب) $\lim_{x \rightarrow 1^-} \frac{x+1}{x} = [2] = 2$ ✓

ج) $\lim_{x \rightarrow 1^+} \frac{x+1}{x} = [2] = 2$ ✓

د) $\lim_{x \rightarrow 1} \frac{x+1}{x} = 2$ ✓

الف) $\lim_{x \rightarrow 1} \frac{x-5}{x^2-9x+4} = \frac{1-5}{1-9+4} = \frac{-4}{-4} = 1$ ✓

ب) $\lim_{x \rightarrow 1} \frac{x-5}{x^2-9x+4} = \frac{1-5}{1-9+4} = \frac{-4}{-4} = 1$ ✓

ج) $\lim_{x \rightarrow 1} \frac{x-5}{x^2-9x+4} = \frac{1-5}{1-9+4} = \frac{-4}{-4} = 1$ ✓

د) $\lim_{x \rightarrow 1} \frac{x-5}{x^2-9x+4} = \frac{1-5}{1-9+4} = \frac{-4}{-4} = 1$ ✓

الف) $\lim_{x \rightarrow 1} [f(x) - 5] = [1.0] = 1.0$ ✓

ب) $\lim_{x \rightarrow 1} \frac{1}{x-1} = \frac{1}{0^+} = +\infty$ ✓

ج) $\lim_{x \rightarrow 1} \frac{1}{x-1} = \frac{1}{0^-} = -\infty$ ✓

د) $\lim_{x \rightarrow 1} \frac{1}{x-1} = \frac{1}{0^+} = +\infty$ ✓

$$y = \sqrt{x^2 - 1} \Rightarrow y' = \frac{1}{2} \frac{2x}{\sqrt{x^2 - 1}} \Rightarrow y' = \frac{x}{\sqrt{x^2 - 1}} \Rightarrow \lim_{x \rightarrow 1^+} y' = \frac{1}{0^+} = +\infty$$

الف) $\lim_{x \rightarrow 1} [f(x^2 - 1) + 1] \Rightarrow f(x^2 - 1) \Rightarrow \lim_{x \rightarrow 1} (x^2 - 1) = 0 \Rightarrow f(0) = 1$
 $\lim_{x \rightarrow 1} [f(x^2 - 1) + 1] = 1 + 1 = 2$

ب) $\lim_{x \rightarrow 0} [f(x^2 - 1) + 1] \Rightarrow f(x^2 - 1) \Rightarrow \lim_{x \rightarrow 0} (x^2 - 1) = -1 \Rightarrow f(-1) = 1$
 $\lim_{x \rightarrow 0} [f(x^2 - 1) + 1] = 1 + 1 = 2$

الف) $\lim_{x \rightarrow 1} \frac{x^2 - 1}{x^2 + 1} = \frac{(x-1)(x+1)}{(x+1)(x-1)} = \frac{1}{1} = 1$

ب) $\lim_{x \rightarrow \pi} \frac{|\sin x|}{\sin x} \Rightarrow \frac{|\sin x|}{\sin x} \Rightarrow \frac{1}{-1} = -1$

الف) $\lim_{x \rightarrow \frac{\pi}{2}} \sqrt{x - \frac{\pi}{2}} \Rightarrow \frac{0^+}{0^+} = 0$

ب) $\lim_{x \rightarrow 0} \sqrt{x + \sqrt{x}} \Rightarrow \frac{0^+}{0^+} = 0$

الف) $\lim_{x \rightarrow 1} \frac{1}{x^2 - 1} = \frac{1}{0^+} = +\infty$

ب) $\lim_{x \rightarrow 1} \frac{x^2 - [x^2]}{x - [x]} \Rightarrow \frac{0^+}{0^+} = 1$

الف) $\lim_{x \rightarrow 1} (x^2 - 1) = 0$

ب) $\lim_{x \rightarrow 1} (x^2 - 1) = 0$